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Solve the following systems of equations by graphing, 7} )
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3. Explain in words: How can you find a solution to a system of equations from a graph?

The solutr cam be Seen in the wearsection(s)
of the graphs of the funekions
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4, Solve the following system using the substitution method: y=
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7. Fill out the table for each of the following equations below:

a y=6x—11 2x+3y=7 b. Use the tables to find the solution to the system of equations: |
y=6x—11 |
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‘9. Kona coffee sells for $51 per pound and Colombian coffee sells for $11 per pound. Sylvia wants to mix these two types
of coffee to creands of Breakfast Blend coffee that will sell fok$25 @r pound,

a. How much would the 100 pound mix cost? h. Write a system of equations that would

B 100 = 6@0 describe this situation.
a5 % k + ¢ =160
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c. Solve the system algebraically (substitution or elimination).
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8. A metallurgist {someone who mixes metals) nee/ds,to_mk pounds of an alloy {mg{gi_r_mx(yre) containingG0% gold i
He is going to melt and combine one metal that i 20% goT@/ith another metal that i§$70% gold.Fow much of each
should he use? -
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